LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

Lo Lia) slgall zramg Cigial] graxd Jac Gl sl (e Jguamll¥

https://almanahj.com/ae

Lie i) plad) e (S Codll slge guaxd Joo Gyl e Jguamld *
https://almanahj.com/ae/12
Lis i), Jgaid] guaxdy linly; 8ale (48 pladl e (Sl Caad) Gl sl guax (e Jguamld *

https://almanahj.com/ae/12

Lis bas) o Lol il 83l (46 plad) ptie (S Caad) alge zuaxd oo Gl gl (e Jguamdd *
https://almanahj.com/ae/12
L bzl pld) jie Gl Caall U Jguat)) graz> (48 algall graz iS Jraxi) *
https://almanahj.com/ae/grade12
Lo bao) iplali (de maliadl cog () chasill

https://t.me/almanahj_bot



https://almanahj.com/ae
https://almanahj.com/ae
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/12
https://almanahj.com/ae/grade12
https://almanahj.com/ae/grade12
https://t.me/almanahj_bot
https://t.me/almanahj_bot
http://www.tcpdf.org

e Glbalall Aalaa

Review the unit seven

2020/2021 A 381 Juail

dagad) Ban gl) Az e

alal) e AL

Midpoint of segment 4aiicia dadd Cialiia ddaki

distance between two points (i) ¢ Adluall

II i
Fix,

0 l:.'r:, FE:'

¥

¥y

o

2]
X v o

by, ! '

B, -
o 4
[d:\fh..rx.l -+|y_,—_|,'.|
x

The Midpoint of the line segment with endpoints

O,1) 3,-2)

ot phal) (il ) dagitiunal) Aadadll Chuatiial) Adaki

629 6 1
2 (=6,3) (5,1) (6)
Distance between (2,3)(-2,5) Oialil) yy Adlusall
V10 V16 V20 V4
Parabolas;ASall adail)
KeyConcept Equations of Parabolas
— latus rectum. Form of Equation Luldl diuall Y=o e+ k x=aly KW+ h
!;J'I".". e -’*1 ..-*J, ; | dps b : upwardifo > 0, nghtilea =0,
E ¥ {d’ ,.-...| WeIchm o e downward if o < 0 leftifa <0
\ r‘ s Vertex ik if, k)
y futis of Symmetry x=h y=k
' 1 i
bk +— (Ilh—.k]
s ( ' 4a .
— =K : = :
. i £ F = ——— = _— —
0 Directrix i PR
Length of Latus Rectum iy Icl units
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Review the unit seven dajlud) as gl) daa) s
Using the equation to answer the following question Al Ay e Alasl Aalaal) addi

Bx—y?=4ax+ 25|

The vertex of the parabola and direction of opening: 4t ol g (Al adall) Gl
(0,—25) upward (—25,0) left (—25,0)right (0,—25) downward
Its graph is P Al aliia
I T /J
\ -
-40 -30 -20 S \ ’D . /l \.QC—_D 20|
—
—1-60 ll\
The equation of symmetry axis is o AL ) gae Uilaa
x=0 y=0 y=-25 x=—-25
Its directrix: alila
5 4 1 — 25 _0+2 _o-1
x=-25+ 2 X = 2 X = 2 X = 2
The equation of parabola with vertex (1,8) and directrix y=3 is
y=3 alilag (1.58) 4l s (AlSal) adall) Alslaa
__ 2 8)2+1 —i(x—1)2+8 —i(x—8)2+1 ——i(x—1)2+8
i T Y20 Y= 20 Y= 720
The equation of parabola with foci (2,4) and directrix x=10 is
x=10 A3 (2.94) 45 s (Alal) adadl) Aslaa
1 1 1 1
b | _ 2 - ' 2 __ _ 2 e N - 2
x—16(y 4)“+6 y _16(x 6)“+4 | x _16(y 6)“+4 x _16(y 4)*+6
0507740983:J< 5ill You
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The equation represents the following picture. (suppose that (0,0) is the lowest point) is?
(Lalads) sy ddadil) A Jua¥) Adall o) e f) Adll) B ) gual) Jiad Al Adalaal)

= —_—— 42 — 42 — 2
6257 Y= 625" 757
Circle 3 4
ir
‘ | $ A1 alae jgo el V1 il |
. e = h)® + v = .G':I" = g = i Walagl) desldl) Ziowall
Radius \a\_/ * (h k) (o, M 1Syl
F F ,-hu' e
Equation of circle is A Bl Ailaa
4 6

x+1)2+(y—-4)?2=13 | (x+1)*-(y—-4)*=13

(x+1)%+(y—4)2=13

(x—4)?+(@y+1)2=13

The equation of circle with endpoint

(4,-2)(-4,-6)

Ciad
-

b Jal) idadil) <u)d B yifal) Adalaa

x2 + (y +4)2 =20 X+ (y+4)?*=20

(x—4)?2+(y+2)?%=20

Y+ (x+4)?2=20

The equation of circle if r=5 and center (1,4)

(154)R S a5 5

W ki Cial (S 1) 5_dlall Adalea

(x—12%2+@y-42=25| (x—-49*+(@y-1)?%=5

x-1D*-(y-9*=25

(x—1)%2+(y—4)2 =25

You
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The center and radius of the circle respectively are

x*+y%*+6y=-50—14x

MG\ﬂ‘&Gﬁj\ﬁ\#@d\ngﬁ

(-3,-7),r =8 (7,3),r =8 (=7,-3),r=8 (-7,-3),r =8
The circles whose r=2 2 L b Chiai A1) 5 il
HEENELEN I3 RS AR
T T R R P L6 (=8, 5) -1 |
T T 0oYen MraTennmnas BEErEEMEERYE BEEERNEF 4 ' \T\
1 |2 Fie s [of T8 [1
ol [ L] [« —20 0 I |
| 1 T (4, —6)
..... I d -12 ™1
= 16 _A1/
i - l |
Ellipse (<2ll) adadl)
S W] adadi aie Lo 55
I‘-: i .] ’ ¥ ’] - = -y
co-vertices s ";1 0, i) o L G P ST e 1 | Standard Form PR A vl
W 4y 2
=l ol Oriefitation sl
0, o, (0, =0 (g O), (—¢ D) Fod ol bt
dumy 2 sass 2 | Length of Major Axis| =S¥ samall Jgde
dary 25 samy 25 | Length of Minor Axis A= ¥) jpsd! Jsle
h, k) sie asSe| | 2= 2 - 12
4 _“I L L 1”- e _“ 1 | Standard Form bl faal
[ b* a® e
s ! Orientation slaa¥!
th, & * ) h e k) Foci 1
ihk+al (h + @, k) Length of Major Axis i
i+ b,k (h &+ b) Length of Minor Axis 228 o)l guyj !
0507740983:J<) 5ill You
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The equation of ellipse is

2 2

y° X
81 49

2 2

Xy
48" 49

The equation of ellipse with vertices (-4,0), (4,0) and foci (2,0) (-2,0) )
(2,0) (-2,0) 45,325 (-4,0), (4,0) 4wy, g2 Bl addl) Allag

2,2
Z -1
16 12

2 2
2+l -1
12 16

2
A

xz_1
4 2

The equation of ellipse with vertices (14,5), (-2,5) and co-vertiqes (6,9) (6,1)
(6,9) (6,1 ) OA&I el Shail N 5 (-2,5), (14,5) “wdisy s (ablill adadl) Alalas

2 x2

(x — 6)°

(x - 6)°

2 2

y 3 (y — 5)? . | y=5)? B y: X%
64 16 1 64 | 16 =1 16 ' 64 =1 16 162 1
The foci of the ellipse have the equation: Ailalaa M) aBL adadl) A )
+1)2 (x—75)2
+1) N ( )" _ 1
64 28
(5F6,—1) (5F36,-1) (5—1F 6) (5,—1F 36)

The standard form of the following equation is 9x% + 25y% + 72x — 150y + 144 = 0 AUl Uaball Luuldl) dpal)

(x—4)°

(y +3)?
T35

9

=1

(x + 4)?

(y — 3)?
T35

9

=1

(x + 4)?

(y —3)?
Tt

25

=1

¥y —3)%+ (x+4)% =225

The co-vertices of ellipse

have equation

x?2 +4(y—5)? =576 4l

Al aBlil) adadll 488 pall 9’90

(24,5),(—24,5)

(0,29),(0,—19)

(12,5),(—12,5)

(0,17)(0,-7)

(a) 2l g gl oo JoLAAIL &) 0
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Review the unit seven dagld) 3aa 51} A2 4
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The equation of ellipse with center (-5, -2), focus (-5,@) and co vertex (-8, -2) )
(8,-2) ol aul )y (59) 45 (5, -2), 058 gl padll) AUdlas

+2)* @+5)7 _

(y+2)2+(x+5)2 B
25 4 -

(y+2)2+(x+5)2 B
6 25 B

¥+2)? (x+5)?
e 1 + =

1 9 7 25

1 1

The equation of ellipse with length of major axis is 12 and minor is 4 and center at (1,0)

(1,00 Sy 4 sualy 12 V) o9 Jgh aBlil) adadl) Aslaa
0 (x—-1)? M (x—-1)?2 0 (x—-1)?2 M (x—-1)?2
36 T2 ° 36 4 ! 2 T3¢ 12 36 T 2 1

Which of the following represent ellipse with endpoints at major axis (-4,10), (-4, -6), foci (-4,7.3)
(-4, -3.3) approximately?
-4, -3.3) (-4,7.3) 48259 (-4,10), (-4, -6), R SV o saal (i yhal) (UIlaELl AR5 (a8l adad Jiad Alslas g)

-2 e’ _ [ 0-2 @te?_ [0-2' @+’ [ @-2F 0+e?_
36 64 36 64 64 36 64 36w
Hyperbolasi! 3l akill

V r? 1 J'I : \
vertices e Y 1 i 2 1 A lpil) Rk
r,-;—r.' ED i il elami ¥
0, £¢) (g O) T
SN A SN P—F e LIV gV ) gl
lamy 28 sy 28 Bl el e
transverse axis K p= 92 p=t2 o ) o gl ¥ sl
gty cunjsiga axis.
| .-_I-J-Hr:_-"_ | J:;_tl (h, k) sus L‘,j,.a| J2 = g 4 bE
4 b ;.'.:" lx :.-'-:" : [ N I_H" Attt Al
.}; = = il alss ¥l
v b E e (f &+ o kg & B
.l.‘_l" "!{h i
':‘ N L o VA £ a &) wab ol
¥ W+ & i) [, £+ B A8 el g
= A= 4 ';il_l — fi F— & . {E,lt Fill R L3 L SN ENE T
— 0507740983:J<) 5ill You
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+ I culih
5 2a | |y — x| constant difference.
The equation of hyperbola is RN 1A A ) adadl) Adalaa
5. 0N e, s, 01
g A lof 1 ] ex
7 T \\;
1y ik
2 2 2 2 2 2 2 2
X X X X
2 2 ¥y v 2 ¥
4 3 16 9 1 9 4 3
The equation of hyperbola is 1 ) 31 adadl) Alalaa
e
12 ™ b iy —1l
A
- > —hé' ~ 2.2
;‘::/{:TE?“M:: v, i [y
. L] ]
(y +5)2 (x+4)2_1 (y +5)% (x+4)2_1 (y +5)% (x+4)2_1 (y +4)? (x+5)2_1
16 36 4 9 9 4 4 9

The graph represents the following equation is
(y+5)?2 (x+2)% X

9 Al Aalaall Jiag éﬂ\ (sl aw )

16

36

L

)

O

Y/

=
[
e S
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Review the unit seven Aaglal) Baa gl) daa) 0
standard form of the following equation is A A Adlaall 4uldl) 43l

25x% —4y?> —100x + 48y — 144 =0

x-2" -6 _, (x=2? @-6°__ |@x-2® ¢-6*_ _|&+2’ ¢+6°
2 25 16 - 2 5 1|73 25

which of the following equations represents hyperbola with vertices at (3, -3), (5, -3) and length of
conjugate axis is 6 unites?
g 6 Adsh (381 00 s 9aa 9 (-35-3)9(59-3) e Awy,y i Al § aded Jia ¥ alaall )

G- @43 | oD @437 04D @-3? | @t -3

16 9 16 9 16 9 16 9 1

The length of conjugate axis for hyperbola with vertices (-3,4) and (-3, -8), foci (-3,9) and (-3, -13)
(:3,9) (-3, -13) &5 (-3, -8),(:3,4) Y& 4yl @) 51 adadll (38 jal) ) gaal) J sk

V25 V85 V85 285
2
The foci of hyperbola has the following equation: sAdlalae (odl) i) 3 adalll (557
(y +1)° (x—4)2_1
16 9
(—1%5,4) (4,-175) (4F5,-1) (-1,4F5)

equations of asymptotes for the hyperbola has the following equation are:
s lad AUl Adlalae (o4l i) 3 adalll JiLaBY jgaa Alalaa

2 2

y X
=1
16 25
R 1 . 1 T 5 " 4
= —X = —_ — == = —_
y 4 y 5 x y 4 * y 5 x
0507740983: ! sill You
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Conic Section | adasJ! Discriminant et |

circle &l 82— 44C<0; B=0,4A=C

gllipse o=l plad B = 440<0; B+ D JA#C
parabola (2l5s phad B —-44c=0
hyperbola  «l) pdad B —44C>0

which equation is not for parabola? A8 adall Alalaay (yudd i Laa s

x2 +2y*+6x=10 x=3(y+1)>2 y=3x2+5x—3 |[2y+3x2+x—-9=0

The graph of the following equation for? 1 ALl Aataall Sl Jifiadl)

4x? +16y* +32x+63 =0

circled il Ellipse o2l aké Parabola (8% pké Hyperbolail aké

The graph of the following equation for? 1 ALl Astaall Sl Jifiadl)

4 — '.-'!_1_.'-1 + Bx + 36y = 68

X D E N
N | D S

+J 400 Antaall 3Ll Sl

The graphmof the following equation for?

4x®> +3xy—2y+9x—3=0

mngs S - )i
gl O s =l 35

: 0507740983:Ja) sill You
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Solving Linear and Non-Linear Systems

dadadM) g duadl) dalaiN Ja

The solution of the following system is AU AUl Ja
x% +y* =100
y=—-x—2
(_8l 6)r (6; _8) (61 _8)' (_81 _6) (6l _10)1 (_8; _8) (_65 8); (85 10)

which of the following satisfies the system

x*+2y* =11
y+x=2

2L (g3 LI (e 5]

-17
31_1 5 75

17
(3: 1)' (§'§)

-1 7
(—3, _1); (T' - §)

1 7
(—3, 1)' (gi - §)

which of the following is not solution of the system

x> +vy? =34
yZ_xZ=9

?em%u‘gﬁ@m\@g\

25

\E

,0)

25 (43 25 43
22 Gz~ 2

25 43

- |5~ |3

the solution area of the following system is

x> +y2<9
y>—xt+2

A Al HUEl g Ahaia

0507740983 Ja) 5ill
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the solution area of the following system is

x—4y<8

(x=2?° (-9

1

4

9 =

A I AU Ja) Ahis

The system of inequalities represents the following solution area is

9 4 Jal) ddhia Slay d) cYalaal) AU

LT INPT X ‘_
b GETe
— _..). _]—[_
~i-6-4-20] 2 46 8 X
! = 1 \[y;—;{"+4x+2]
y > |2x — 4| y < |2x — 4| y > |2x — 4| y < |2x — 4|

y=>—x%+4x+2

y=>—x%+4x+2

y<—x®+4x+2

y<—x%+4x+2

0507740983 sill You
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Parametric equations 4w o) c¥alaal)

The rectangle form of the following equation is

x=t+5y=2t—6

gh 3\.)31:4\ L |E DA @J\Sﬁﬁ\ 8)3.@3\

y =2x+10

y=2x—4

y=2x-—16

y=2x+16

The graph of the following parametric equations is

x=3ty=t*-7

98 A Adased o) calaall Sl Jaiadl)

-10 o 10

/m
10—

o 1o

The rectangle form of the following equation is

x = 3c0s0,y = 5sinf

A Al e slaall 45 1l 3 ) gual)

2

<

=1

X2
9 2

Ul

2

l\)|><
vl

2
y
_:1
+9

xZ yZ

g T35 1

2

=

=1

v
9

N
vl

The graph of the following parametric equations is

x = 5cost,y = 9sint

38 L0 Dl ) ¥ ataall o) Jiadl

N
J

-10
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